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5 Bootstrap
BOOTSTRAP BOOTSTRAP
ALPHA | T ALPHA o ALPHA | T ALPHA o
13 8% 4 76 0 000 8 2% 2 82 0 002
14 2% 4 75 0 000 9 4% 28 0 009
12 6% 4 67 0 000 9 1% 277 0 005
13 9% 4 65 0 000 7 8% 277 0 006
11 8% 4 34 0 000 7 4% 273 0 005
8 3% 4 21 0 000 6 4% 272 0 004
11 3% 4 15 0 000 7 3% 2 69 0 008
8 3% 4 11 0 000 11 0% 2 69 0 008
13 2% 4 02 0 000 2 9 0% 2 68 0 008
15 2% 3 98 0 000 15 7% 2 66 0 010
7 9% 395 0 000 8 2% 2 66 0 014
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BOOTSTRAP BOOTSTRAP

ALPHA | T ALPHA - ALPHA | T ALPHA o

9 1% 392 0 000 8 4% 2 66 0 006
9 8% 391 0 000 7 3% 2 62 0 014
9 2% 389 0 000 7 2% 26 0 015
13 6% 3 86 0 000 11 0% 259 0 015
10 7% 3 86 0 000 7 2% 2 54 0 010
9 1% 3 84 0 000 8 6% 2 53 0 021
12 6% 38 0 001 7 7% 2 52 0 009
11 3% 378 0 000 6 4% 2 49 0 014
10 9% 373 0 000 6 6% 2 46 0 009
10 4% 37 0 002 8 5% 2 44 0 016
9 6% 3 69 0 001 17 9% 2 43 0 009
11 9% 3 66 0 001 7 6% 2 39 0 018
15 4% 3 65 0 000 7 1% 2 39 0 015
11 5% 3 56 0 001 8 3% 2 36 0 012
10 4% 355 0 000 9 5% 2 36 0 019
11 9% 3 44 0 001 7 6% 2 36 0 020
8 9% 3 44 0 002 9 5% 2 35 0 025
7 8% 3 33 0 000 5 9% 2 33 0 016
15 6% 331 0 003 10 0% 2 27 0 024
8 6% 321 0 004 9 5% 2 26 0 036
12 4% 314 0 001 7 1% 223 0 021
9 4% 313 0 003 14 0% 22 0 033
7 8% 312 0 002 9 0% 219 0 026
7 1% 312 0 004 6 1% 218 0 026
10 2% 311 0 001 6 6% 217 0 033
8 4% 3 04 0 001 7 1% 2 16 0 041
7 3% 301 0 003 12 1% 216 0 030
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28 Bootstrap P 0.05
6 Bootstrap
BOOTSTRAP BOOTSTRAP
GAMMA | T GAMMA b GAMMA | T GAMMA b
0 95 4 88 0 000 0 43 2 39 0 015
154 4 03 0 002 154 2 37 0 027
1 06 3 84 0 022 0 43 2 36 0 030
0 53 3 64 0 000 0 83 2 33 0 055
142 3 63 0 009 0 94 2 33 0 064
0 60 354 0 001 0 59 2 33 0 008
078 325 0 001 0 66 2 32 0 062
122 318 0 041 127 2 22 0 046
160 312 0 000 0 62 2 18 0 103
2 64 3 03 0 002 0 62 2 16 0 101
130 3 01 0 012 0 37 2 12 0 113
231 3 00 0 002 0 96 2 09 0 144
079 2 97 0 027 116 2 08 0 027
0 43 274 0 041 138 2 06 0 066
0 90 2 64 0 006 0 41 2 05 0 067
177 2 61 0 036 0 59 2 05 0 071
163 2 54 0 020 144 2 04 0 010
153 2 54 0 004 148 2 02 0 065
0 60 2 47 0 086 131 2 00 0 045
0 61 2 45 0 023 0 60 198 0 351
2 45 2 44 0 005 113 196 0 061
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